HAEXRCBREER NO.1
JIS A 1211 CBRERER (ZENE ARER) s AR
FEL: FTERRL HERBE: [F245H28H

- =2F:
=32 HERE: X5 KX
HERADOREUE, RUEFKE: TS5UMRR 7THEEE HEEH: = FEKE
I HEADERER
E—I)LR NO. 11 g Kkt o @B E
GEEEE+E—ILR) ESe 126543 |REHAMEE+EHREE WW 1156.3¢
E—IILFEEg 8718.4 HIRANEEIABESE DW 981.3g
ERENES 3935.9 KDEE Ww 175¢g
E—ILFIKTR V.  om 2208 BHREE TW 454.3g
BERE Yt g/ cm’ 1.78 ETDES Ws 527g
IREE rd g/ cm’ 1.33 SKkw = Ww/Wsx100 = 33.21%
B 53'ss=Ws/(Ww+Ws) X 100= 75.07%
TIRKMEAR
% K B R hr ——1 2 4 8 24 48 72 96
fz 5k &  mm —
iz & Lt % —
AR Q A RDIZREE v dBLUEKEE W X
AEE—ILF | EBES fEaREE HERIRE yt | rd w’
g gw V(1+re/100) cm’ g/lem?| glem?® %
, 100rd , 7 +(100+re) T~ 7't
Y'd = w = —100 =100¢( : —1)
100+re rd Y d
V. B AHER ERANBTETE : 19.625 o
BEAE mm 0.5 1.0 15 2.0 2.5 3.0 5.0 75 100 | 125
FEHEA kg | 49 91 133 175 | 218 | 260 | 345 | 556 | 979 —

V. EZE FYUKIBMEAEBDEKE X
WW DW

DW Tw—
Ww W’'s
w= % ss= %
V. CBR
BERE 2030 kg
EARE 344.62 ke/ cni
C BR 16.97 %

GE) XENTIEKZHAERDIGE (XFRS,




CBRAIE

HERE: FERRET

NO.2

HERB: Sf285H28H
HERER: 215 tHK

1.HRER

BEAE T— M EARE S

(mm) yid a 13 (kg/cni)
0.5 5.5 6.0 5.75 48.62
1.0 105 11.0 | 10.75 90.91
1.5 15.5 16.0 15.75 133.19
20 20.5 21.0 | 20.75 175.48
25 25.5 26.0 | 25.75 217.76
3.0 30.5 31.0 30.75 260.05
5.0 40.5 41.0 40.75 344.62
1.5 65.5 66.0 65.75 556.04
10.0 1155 | 116.0 [115.75 978.89
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FLE 5 mBlE NO.3
HEg: FEMBEL HERH . SH245828H
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1.HBRER
BEI=mm) | aBF+t( b.&(e) et ERED RIEE®)
40.0 555.0 555.0 0 0 100.00
37.5 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 573.8 573.8 0.0 0.00 100.00
9.5 667.2 543.1 124.1 26.50 73.50
6.7 632.1 477.6 154.5 32.99 40.51
4.75 564.5 527.6 36.9 7.88 32.63
2.36 567.6 521.2 46.4 9.91 22.72
1.180 554.1 460.7 93.4 19.94 2.78
0.425 366.4 357.0 9.4 2.01 0.77
0.075 320.5 316.9 3.6 0.77 0
0.0 350.1 350.1 0.0 0 0
a5t — — 468.3 100 100
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